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14 Simplify the following. 

 

 (a) 8
0

 

 

 

 Answer(a)   [1] 

 

 

 (b) (x
5

)
2

 

 

 

 Answer(b)   [1] 

 

 

 (c) p
–3

 ÷ p
4

 

 

 

 Answer(c)   [1] 

 

 

 

15 A tourist changes $900 to euros (€) when the exchange rate is €1 = $1.356. 

 

 Calculate the amount he receives.  

 Give your answer correct to 2 decimal places. 

 

 

 

 

 

 

 

 

 

 Answer €   [3] 

 

 

 

7 

© UCLES 2010 0580/12/O/N/10 [Turn over 

For 

Examiner's 

Use 

11  

O
A

D
C

B

y°
x°

55°
NOT TO
SCALE

 

 

 The diagram shows a circle, centre O, with diameter BC. 

 AB is a tangent to the circle at B and angle BCD = 55°. 

 A straight line from A meets the circle at D and C. 

 

 Calculate the value of 

 

 (a) x, 

 

 

 

 Answer(a) x =   [2] 

 

 
 (b) y. 

 

 

 

 Answer(b) y =   [1] 

 

 

 

12 (a) Write down the value of x when 

 

 (i) 5
x

 ÷ 5
2

 = 5
4

, 

 

 

 

 Answer(a)(i) x =   [1] 

 

 (ii) 

49

1

 = 7 x. 

 

 

 Answer(a)(ii) x =   [1] 

 

 
 (b) Write down the value of 3p

0

. 

 

 

 Answer(b)   [1] 
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10 Change 18.75% into a fraction. 

 

 Write your answer in its lowest terms. 

 

 

 

 Answer   [2] 

 

 

11 Factorise completely. 

 3ac – 6ad 

 

 

 Answer   [2] 

 

 

12 Simplify 

3

2

1

1

−

⎟

⎠

⎞
⎜

⎝

⎛
. 

 Give your answer as a fraction. 

 

 

 

 

 Answer   [2] 

 

 

13 Solve the simultaneous equations. 

 3x + y = 5 

 5x + y = 9 

 

 

 

 

 

 Answer x =    

 
 y =   [2] 

 

 

14 17 27 17  0.294 

17

5

 

 
 From the list of numbers, write down 

 

 (a) a prime number, 

 Answer(a)   [1] 

 

 (b) an irrational number, 

 Answer(b)   [1] 

 

 (c) the smallest number. 

 Answer(c)   [1] 
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8 The population, P, of Brunei in 2008 was 400 000 correct to the nearest 1000. 
 

 Complete the statement about the value of P. 

 

 

 

 

 

 

 

 

 Answer  
Y P I   [2] 

 

 

 

9 Use your calculator to find the value of 

 

 (a) 3
0

 × 2.5
2

, 

 

 

 

 

 Answer(a)   [1] 

 

 (b) 2.5 – 2. 
 

 

 

 

 

 

 Answer(b)   [1] 
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14 Factorise completely. 

 

 5g
2

h + 10hj 

 

 

 

 

 Answer   [2] 

 

 

 

15 For her holiday, Dina changed 500 Swiss francs (CHF) into pounds (£). 

 The rate was  £1 = CHF 1.6734 . 
 

 Calculate how much Dina received in pounds. 

 Give your answer correct to 2 decimal places. 

 

 

 

 

 

 

 

 

 

 Answer £   [2] 

 

 

 

16 Simplify 

 4x
4

 × 5x
5

. 

 

 

 

 

 

 Answer   [2] 
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55° p°

NOT TO
SCALE

  Find the value of p.

 Answer p =  ...............................................   [2]
_____________________________________________________________________________________

10  Calculate 17.5% of 44 kg.

 Answer  ..........................................  kg  [2]
_____________________________________________________________________________________

11 Find the value of

 (a) 94,

 Answer(a)  ...............................................   [1]

 (b) 60.

 Answer(b)  ...............................................   [1]
_____________________________________________________________________________________
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17  Solve the simultaneous equations.
2x + 5y = 26
4x + 3y = 24

 Answer x =  ...............................................

 y =  ...............................................   [3]
_____________________________________________________________________________________

18  Simplify the following.

 (a) x5 × x2

 Answer(a)  ...............................................   [1]

 (b) 20y4 ÷ 4y–2

 Answer(b)  ...............................................   [2]
_____________________________________________________________________________________

3

0580/13/O/N/14© UCLES 2014 [Turn over

5  A bag contains 20 counters.
  One counter is taken from the bag at random.
  The arrow on the probability scale shows the probability that this counter is blue.

0 0.5 1

 (a)  Work out the number of blue counters in the bag.

 Answer(a)  ................................................   [1]

 (b) Find the probability that the counter is not blue.

 Answer(b)  ................................................   [1]
__________________________________________________________________________________________

6  The temperature in a freezer is –20.5 °C.

 (a) The temperature in a fridge is 2.8 °C.

  Find the difference between the temperature in the fridge and the temperature in the freezer.

 Answer(a)  ...........................................  °C  [1]

 (b)  The temperature in the freezer rises by 5 °C.

  Find the temperature in the freezer now.

 Answer(b)  ...........................................  °C  [1]
__________________________________________________________________________________________

7  Find the value of

 (a) 27443 ,

 Answer(a)  ................................................   [1]

 (b) 64.

 Answer(b)  ................................................   [1]
__________________________________________________________________________________________
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8 

2x – 7

x + 3
x

NOT TO
SCALE

 

 

 The lengths, in centimetres, of the sides of a triangle are  x ,  x + 3 and 2x − 7. 

 The perimeter of the triangle is 52 cm. 

 

 (a) Use this information to write down an equation in x. 

 

 

 Answer(a)   [1] 

 

 (b) Find the value of x. 

 

 

 

 

 Answer(b)  x =   [2] 

 
 

  
9 The area of a circle is 19.7 cm

2

.  

 Calculate the radius of the circle. 

 

 

 

 

 

 

 

 Answer  cm [3] 

 
 

  
10 Simplify  
 (a) 

3 4

p p× , 

 

 

 Answer(a)   [1]  
 (b) 

8 2

12 3q q÷ . 

 

 

 Answer(b)   [2] 
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12 (a) 
1

27

= 3
x

 . 

  Write down the value of x. 

 

 

 Answer(a) x =   [1] 

 

 (b) Simplify  

 

  (i) p
7

 × p
-2

 ,  

 

 Answer(b)(i)   [1] 

 

  (ii) m
3

 ÷ m
7

. 

 

 Answer(b)(ii)   [1] 

 

 

 

13 (a) Work out 

0.68 2.57 1.76

63

+ ×

. 

 

  Write down all the figures from your calculator display. 

 

 

 

 Answer(a)   [1] 

 

 (b) Write your answer to part (a) in standard form correct to 3 significant figures. 

 

 

 Answer(b)   [2] 

 

 

 

14 Solve the simultaneous equations. 

 

    3x − 2y = 15 

    2x + y = 17 

 

 

 

 

 

 

 

 

 

 Answer x =    

    

 y =   [3] 
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10 (a) 

 

 

  Write down the order of rotational symmetry of the shape above. 

 

 Answer(a)   [1] 

 

 (b) 

A M N O T X 
 

  From the list, write down the letters which have only one line of symmetry. 

 

 

 

 Answer(b)   [2] 

 

 

 

11 Simplify 

 

 (a) 
53 −

×mm , 

 

 

 

 

 

 Answer(a)   [1] 

 

 (b) 
28

315 kk ÷ . 

 

 

 

 

 

 

 

 Answer(b)   [2] 

 


